
6LH�KDEHQ�HLQ�7UDLQHH—3URJUDPP�RGHU�HLQ�VSDQQHQGHV�(LQVWLHJVSURMHNW�I¾U�GDV�6LH�0DFKHU�LQQHQ�XQG�
9LVLRQ¦UH�LQQHQ�VXFKHQ" 

 

ΖKU�1XW]HQ 

-�H[NOXVLYH�8QWHUQHKPHQV–�XQG�3URJUDPP�3URMHNWYRUVWHOOXQJ� 

-�SHUV¸QOLFKHU�$XVWDXVFK�PLW�6WXGLHUHQGHQ 

-�0¸JOLFKNHLW�HLQHV�NXU]HQ�)DFKYRUWUDJHV 

 

=LHO 

-�9RUVWHOOXQJ�DOV�DWWUDNWLYHU�$UEHLWJHEHU�EHL�GHQ�]XN¾QIWLJHQ�1DFKZXFKVNU¦IWHQ 

-�6WXGLHUHQGH�HUKDOWHQ�3UD[LV-�XQG�8QWHUQHKPHQVHLQEOLFNH 

-�8QWHUQHKPHQ�WUHWHQ�LQ�GLUHNWHQ�'LDORJ�PLW�GHQ�6WXGLHUHQGHQ 

 

:LU�EHZHUEHQ� ΖKUHQ�8QWHUQHKPHQV-ΖQIRDEHQG�YRUDE�DXI�XQVHUHP�&DPSXV�XQG�RUJDQLVLHUHQ�GHQ�$EHQG�� VR�
GDVV�6LH�VLFK�DXI�ΖKUH�9RUVWHOOXQJ�XQG�*HVSU¦FKH�NRQ]HQWULHUHQ�N¸QQHQ��'LVNXWLHUHQ�6LH�DNWXHOOH�7KHPHQ�XQG�
VWHOOHQ�6LH�ȴUPHQVSH]LȴVFKH�(LQVWLHJVSRVLWLRQHQ�XQG�.DUULHUHZHJH�YRU� 

 

 

:HLWHUH�ΖQIRUPDWLRQHQ�XQWHU�ZZZ�XQL-ZK�GH�FDUHHUVHUYLFH�� 

$QVSUHFKSDUWQHULQ��&DWKOHHQ�-DKHVK 

&DUHHU�6HUYLFH�_�FDUHHUVHUYLFH#XQL-ZK�GH�_������-���-��� 

8QWHUQHKPHQV-ΖQIRDEHQG
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